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Q.1. In between two rational number there is/are:
Exac_tly one - . Many irrational Many irrational
A ;?Jt:gg:: B | Infinitely many rational AUMbeErs D numbers
Q2. | A rational number equivalent to ; is:
A 15 B 25 2 D E
17 27 14 27
Q.3. | Ifthe decimal representation of a rational number is non-terminating, non-recurring then the
number is:
A ?IS?S;?I B| ° whole number a fraction D| anirrational number
Q.4. | Which of the following is irrational?
4 V12
A 5 B Vel V5 D V81
Q.5. | Onadding 2v/3 and 3v2, we get
A| 5(/3 +v2) |B| 5V5 2v3 +3v/2 D None of these
Q.6. |12 X+/15 is equal to:
A 5V6 B| 6V5 10V5 D V25
Q.7. | The value of {/( 16 )2
1
A — B 1 1 D 4
16 4 2
Q.8. | On simplifying 83 x 24, we get
A 167 B 213 210 D 84
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Q.9. | For rationalizing the denominator of the expression \/% we multiply and divide by
1
A New: B|12 C V2 D V3
Q.10. | Which of the following is irrational?
A | 0400301490 | 0.14 C 0.1416 D 0.1416
Q.11. | The decimal expansion of V2 is
- . non-terminating non-terminating
A | finite decimal | B | 1.4121 C recurring D non-recurring
Q12. Can we write 0 in the form of s
A | Yes B No C (e:ilr)llr; (i)rtl:})g D| None of the above
Q.13. | Which of the following is equal to X3
X6
A X6 -X3 B X6 . X3 C %3 D (X6)3
Q14. | The value of 20;070 is:
9 1
A 3 B 0 C A D 2
Q.15. | The rational number 43—0 is equal to:
A | 0.75 B 0.12 C 0.012 D 0.075
Q.1.B Q2cC Q3. D Q4 C
o 0.5.C Q6 B Q7¢C Q8 B
=
=
2 1Q9.D Q.12 A
< Q10A Q.11.D
Q.13.C Q.14.D Q15D
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